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16. Eight differential equations and four slope fields are given below. Determine the

2&[4
|
o L
Il il
bl B LY Y
=% 88
.
o~ e
v..
E E
Jf
+ &
- -+
e .
Il Il
iy
28 2%
= =
g &
™~
Lo S
I
o
Il I
g I S B
28 28
s~ L)
g £
[ ]
~ &
+  +
B o
I Il
b I oS Y
S8 D%
2 Z

®)

(@)

S ", P, Vi, i, o Vi, S, Sy T, o, ", ", Merg, W, i, Uy, ", Sy
T o M T o S S R S S T o S
NARANARNNNNNNRNANNNNNNNNN
PRALLLR ALy
RN EEENENEEERYN
F S SN S
VAl A AP PP P ) P S P
DAl P P P
ol ol PPl P e g
QL s e B P A Pl o ]
P TR T TP PPy gy
AR A P P SV
AR AR A AR AR A
SRR
SRR RRA R IRV
MNNNNNNNAN VL/“.///////
S S S N e S N /Ffff/fff
e T, Vg, Mt Wty My, Mo, S, T, iy, i, iy, M, S, i, P, Wi, o, s

7,

o)
m———— Y Ly )l
N B NNy g
NN L | /7
e\ 2N R e
————s\ A VUV A
N LY | /7o
IR L Rt
a2 i o AN Lo/ /e
——— ﬂﬂf { 7w
N .
e [ R atattas
——— N\ LI R A

27—

=,

Ty

ffffff o, "y S Ve i, Ny, AT i et
’’’’ e S e e S o, N, I
”””” ——tmarm b N | S
T S T B T M S N N ey li7Z77
SOANNSNNANANNY VY 1177
AR R EEEEREN 11
I ARRRREEREREE | {
L I L A I O A I LI ] 11
AR BRAEEEERERES _4&
AR R ERE RN
WANNCNNNANN Y Vkﬂ 1177
~mssw NN | 2o
ffffff ey, "o, S, N S A

Sy g ..l.ﬂ.ﬁa/ A ot it g e
llllll S Mo Sty b, P, oty P et it s

ol

fffff o My \ F .\ N S T
e N A Y S|\ N
e N R R A
N A B
SN [ 7] A NS
e N N Y - e ] LI Y
~=sw NNV LT YANNS
~SNNANANYV YL FITEUAAN
o N N R
A VL TN R - VY
P | V174
e S ] \ V| S 7rer
c.ll!l..»\\l\......\\.\h.ll_r_..p # -«\\.\\tﬁ
A A RL RN iy
e PN | e
iiiii e NN [ 7
et £ AN | 7 e




